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1  Answer the following questions in a word/a phrase/
a sentence :

(1)
@)

3)

(4)
(5)
(6)
()

®)

9)

Write any two constituents of a noun phrase.

An adjective phrase consists of either an adjective or
an and an adjective.

A is a verbal noun where as a participle is a
verbal adjective.

The head of noun phrase is usually a
You would not have talked to me this way if
I will reach home earlier if

Identify the reporting verb of the sentence
He shouted, "Get lost".

Identify the subordinate clause of the sentence 'You
cannot win the game if you remain a coward'

A sentence consisting of multiple clauses connected by
coordinating conjunction/s is called a

(10) Clauses can be divided into principle clause and

(11) Use 'dance' as a participle in a sentence.

(12) Use 'dance' as a gerund in a sentence.

(13) What is a transitive verb?

(14) Write three kinds of determiners.
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2  Show the structure of the underlined NPs' with the help 14
of a Tree Diagram : (any seven)

(1) The first silent movie is unknown to me.

(2) It is a very serious issue.

(3) My answers are not checked properly.

(4) The President's address is telecast live.

(5) A CD 1is cheaper than a cassette.

(6) Those suggestions are not acceptable.

(7) The last four problems are still unsolved.

(8) Let us welcome all the invited guests.

(9) Which movie do you prefer?

3 Change the sentences as indicated in the bracket : 14
(1) She came here to see me (change into compound)

(2) They were poor and often suffered great hardships.
(Simple)

(3) We must eat or we cannot live (simple)

(4) He worked hard that he might pass the examination.
(Simple)

(5) He bought the books that belonged to his uncle.
(Simple)

(6) On seeing the tiger, he climbed up the tree. (complex)
(7) In the absence of the cat, the mice will play. (Complex)

(8) The doctor must come at once or the patient will die.
(Compllex)

(9) These were the clothes that were my mother's. (Simple)
(10) Search his pocket and you will find the wallet. (Complex)
(11) If you do not hurry, you will miss the train. (Compound)
(12) She came here and saw me. (Simple)

(13) Completing the work, the carpenters went home.
(Compound)

(14) She tried hard that she might win the prize. (Simple)
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4 (a) Change the voice : 7
(1) We saved him.
(2) I have made a study of this.
(3) Arthur found the article very dull.
(4) He paid fifty rupees for the lunch.
(5) Freedom has to be safeguarded.
(6) Stop the machine.

(7) The answer is not known to me.

(b) Change the following into Indirect Speech: 7
(1) Holmes said, "Watson, what are you doing here?"

(2) "Stir the syrup for a minute", he said, "Now add
in a few drops of lemon."

(3) "Who is this girl?" Kantichandra said to himself

(4) He said, " My mother used to sing this song called
'Country Roads' a lot

(5) "Yes, it's a cherry tree," said Grandfather. "You
should water it."

(6) Suddenly Charlie jumped to his feet and said,
"T know, I know, what to do."

(7) "Shut the door" said the man.

5 (a) A student seeks permission of leave from his 7
teacher for a week. Draft the dialogue.

(b) Draft a telephonic conversation between a teacher 7
and a parent who wishes to inquire regarding the picnic
organized by the school.
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